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RAFFLES GIRLS' PRIMARY SCHOOL
END YEAR EXAMINATION 2024

MATHEMATICS
PRIMARY 3

Name: ( Class: P3

Dats 22 October 2024

INSTRUCTIONS TO CANDIDATES

1. Do not turn over this page until you are told to do so.

2. Fallow all instructions carefully.

3. Answer ALL questions and show all working clearly.

)

Duration:1h30min

Your Score

Section A (15 marks)

Section B (15 marks)

Section C (20 marks)

Overall (Out of 50 marks)

Parent's Signature



SEGTION A.lL5 marks)

Questions 1 to 5 carry 1 mark each. Questions 6 to 10 carry 2 marks each.
For each question, four options are given. One of them is the correct answer,

Make your choice (1 ,2,3 or 4) and shade your answer (1, 2,3 or 4) on the
OpticalAnswer Sheet,

1. The value of the digit I in 8241 is

(1)

(2)

(3)

(4)

I
BO

800

8000

2.

3.

(1)

(2)

(3)

(4)

(1)

(2|

(3)

(4)

What is the missing number in the box?

u_E
123

1

2

3

4

What could be the mass of an apple?

1og

10 kg

100 g

100 kg
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4. What is 15 minutes after the time shown on the clock?

(1)

(2)

(3)

(4)

4.05 pm

4.35 pm

5.35 pm

5.05 pm

5. ln the figute, which angle ls greater than a right angle?

(1)

(z'.)

(3)

(4)

LW

LX

Ly

lz
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B. Anange the following numbers frorn the smallest to the greatest.

8350 3s80 5830

(1)

l?l

(3)

(4)

S.malleat

8350

3580

3580

5830

3580

8350

5830

3580

Greafesf

5&30

5830

E3s0

E350

7. Whlch of the following fractions is the srnallesCI

(1)

(3)

(4)

8. Joan bought the book and the pen. Sho gave the cashier $50. How much

change dH she rsceiw?

1

t

2

3

3

5

4
g

(21

Book

s14-8D

Pen

s2-60

(1)

E}
(3)

(4)

$17.40

$32.60

$33.40

$35-20
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500 ml

9. How much more water is needed to fillthe beakerto 500 ml?

(1)

{2\
(3)

r4)

130 ml

160 rnl

320 ml

340 ml

AandC

BandD

AandB

BandD

10. Which two shapes shown in the grid have the same area?

1cm
<---'

1cm.l
t

(1)

(2)

(3)

(4)

\
I \ \

A B C D

v r v
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SEGTIgN B (15 marlrs)

Queitions 1{ to 15 mrry 1 marks each. Questions {6 to 20 carry Zmarks each. Show
your working clearly and write your answers ln the spaces provided. For questions
which require units, give your answers in the unit stated.

11. Write eight thousand, five hundred and two in numerals.

Answer

12. What is the missing number in the box?

6703

Answer:

7
63

21
+ 4 5
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13. What is the fraction represented by A on the number line?

lltrlllttt^l
I..-.....-._-----l- i---r---]t10

A

Answer:

14. Find the rum otf rnO f

Answer:

1l,. Draw a line perpendicular to AB passing through point C.

L'
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16. There are 6 donuts in a box. Mrs Lee bought 8 boxes.

How many donuts did she get?

Answer:

17. Mr Ali had 637 oranges. He packed them into bags of 7 oranges. How many

bags of oranges did he pack?

Answer:

18- Mrs Raja bought7?o g of potatoes. Mrs Tan bought three tlmes as much

potatoes as Mrs Raja. How much potatoes did Mrs Tan buy?

g
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19. The perimeter of a square ls 36 crn.

Find tlre area of tho square.

Answer:

20. The height ot three stacked paper cups is 20 cm. The height of two stacked

paper cups is 16 cm, What is the height of 1 paper cup?

20 cm 16 cm

cmz

?

Pg9of14
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SECTION G {20,markg}
For questions 21 to 25, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets I I at the end of
each question or part-question.

21. There were 432O adults and '1695 children in a stadlum.

(a) How many fewer chiHren than adults were there?

Answen (a) l2l

(b) There were 840 boys. How many girls were there?

Pg 10 of 14
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22. The sum of 2 numbers ls 86.

The difiBrence bstween the 2 number ls 14.

(a) Find the smaller number-

(b) Find the bigger number.

Answer: (a) 121

t2I
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23. The bar graph shows the number of children who visited the school library in

one week. The nurnber of children wtp visited the library on Friday is not

shown.

Numbetpf Children q!the School Librap

Boys

Girls

Monday TuesdayWednesdayThursday Friday

Days of the Week

The number of children who visited the library on Friday is the same as the

total number of children who visited the library on Monday and Tuesday.

(a) How many children visited the library on Friday?

Answer: (a) t1l

(b) There were equal number of boys and girls who visited the library on

Friday. Complete the bar graph for the number of boys and girls for Friday.

t1l

(c) Wrtte 'T' for true and 'F'for false in the boxes t2I

(i) There were 5 mora girls than boys who visited the library on
Wednesday.

(ii) There were hrice as many glrls as boys who vlslted the library
on Thursday.

80

70

60

Esoa
E40o
E30o
Ezo)z10

0
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24. Sarah left her home forthe library at 15 40. She took 15 mlnutes to walk to the

bus-stop. She waited for 25 minutes for the bus.

Use a timeline to help you find your an$,vers.

(a) What time did the bus anive-at the bus-stop?

Answen (a) l2l

(b) Sarah reached the library at 16 45. She lefi the library at 18 30. How long
was Sarah at the librarY?

Pg 13 of 14

Answen (b) t21



25 lrene and Peter used sticks to make squares and triangles. (They used 4
sticks for each square and 3 sticks for each trlangle.)

Square Triangle

(a) lrene made 6 squares. She used the same number of sticks for the 6

squares to make some triangles. How many triangles did she make?

Answer: (a)

(b) Peter rnade the same number of squares and triangles. He used 35

sticks altogether- How many squareS did he rnake?

Answer: (b)

-End of Paper-
Please check your work carefully @

t2l

t2l
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SCHOOL
LEVEL
SUBJECT
TERM

CONTACT :

RAFFLES GIRLS'
PRIMARY 3
MATH
2A24 SA2

PRIMARY SCHOOL

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10

4 2 3 4 1 3 4 2 4 1

Ql1 8502

Q12 6

Q13 7

m

Q14

ffiffiffi. ffiffi-W. ffiWffiffi.ffiffiffi
Q15

dKffffisd.#

Q16 8X6=48
QI7 637+7=91
Ql8 U =724

3U = 72AX3 = 21 iog
Q19 81 cm2

r r rr;G-r;lr I ttF tr
Q20 EG*I B* I rflrEJ{*tSm

16-4 = 12cm
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a

Q21 al4320 - 1695 =2625
b)I595-840=855

Q22 a)86-14=72
72+2=36

b)36+14=50
85- 35 = 50

Q23 a)90

b)90+2=45(draw)
c)i)T iDF

Q24 d16 2A

b)Ih 45min
Q25 a)4x6 = 24

24+3=8
b)3+4=7

35+7=5

Pg2


